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Class - IX
MATHEMATICS

Time : 3 to 3Y2 hours Maximum Marks :
YT : 39 31, T Afreram o :

Total No. of Pages :
% J3] hl A :

General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.

| e

1.
2.

[t g e € |

TYYE-TAH 34 U S AR @ § 3, &, §a € H fawifed 31 @ueg - 21§ 10 7 ¥ iR v+
Y 1 Ak FHE, @US - TH 8 T ¢ 3 TIF Y3 2 ki & &, WUS - §H 10 Y37 & 3R yAF
9 3 3] 1§, WUS - TH 6 9 ¥ 3R I 99 4 3T 1 2|

T G 1 9 10 Tgfosmedd 39 ¥ 1 feu e uR famed § @ Uk wet faskey o |

30 2 off gafal fasmey 761 8, wifer a7idafier foehed 1 999 2 il §, 3 U9 3 Rl § 3R 2 T
4 3 ¥ feu U €1 o9 fou U foshedl § 9 U famey &1 =waT |

FAFAR HT FAN afsld B

TG YY-TF &1 TeA & farq 15 fiee o1 993 fen men 1 39 srafy & SR o et I9-93 &t a8
3R 9 IW-JRaeh W e W Tl fea |




SECTION-‘A’

Question numbers 1 to 10 carry 1 mark each.

250

3 27
B) 3 ©) 155

‘Lines are parallel if they do not intersect’ - is stated in the form of :
(A) an axiom (B) a definition (C) a postulate (D) a proof

Measure of an angle which is supplement to itself is :
(A) 45° (B) 30° (S 90° (D) 180°

‘Two intersecting lines cannot be parallel to the same line’ is stated in the form of :
(A) an axiom (B) a definition (C) a postulate (D) a proof

It is not possible to construct a triangle when its sides are :
(A) 83 cm, 34 cm, 6.1 cm (B) 54 cm, 23 cm, 3.1 cm
(C©) 6cm,7cm, 10 cm (D) 3cm,5cm, 5cm

The remainder obtained when the polynomial p(x) is divided by (b —ax) is

S I el

From figure 1, identify the incorrect statement, given that I||m and t is the transversal.

Figure 1

(A) Z2and £5 are supplementary (B) £2and Z8 are supplementary
(C) Z2and £3 are supplementary (D) Z£2and Z1 are supplementary

a?+b2+c2—ab—bc—ca equals :
(A) (a+b+c)? (B)

©) (a—b+c)2
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If AABCZ APQR then which of the following is true ?
(A) AB=RP (B) CA=RP (©) AC=RQ (D)

Value of J(3_2) is :

(A) © -3

1
9

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.

3
Write e} in decimal form and say what kind of decimal expansion it has ?

In figure 2, ray OC stands on the line AB, ray OL and ray OM are angle bisector of £ AOC
and £ BOC respectively. Prove that £ LOM=90°.

O
Figure 2

Define :  (A) a square

(B) perpendicular lines

Draw a quadrilateral whose vertices are (3, 2), (2, 3), (—4, 5) and (5,—3).

-3 -3

Simplify [?—é] X [?] .
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16. In figure 3, D is the mid-point of base BC, DE and DF are perpendiculars to AB and AC
respectively such that DE=DF. Prove that /B= 2ZC.

A

D C
Figure 3

Evaluate (999)°.

In figure 4, PQ 1 PS, PQJ|SR, £SQR=25° and ZQRT=65°. Find the value of x and .

P Q

X
259

65°
R T
Figure 4

OR

In figure 5, if AB||DE, £ ABC=75° and £ CDE=145° then find £ BCD.

D

Figure 5
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SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

4
Find the value of )

(216) °

OR
a

1 3
If a=1—+/2, find (a— —j .

Check whether (p+1) is a factor of p1%—1 and p!01—1.
OR

Find the remainder when 3x3—4x2+7x—5 is divided by (x—3) and (x+3).

In figure 6, POQ is a line, ray OR is perpendicular to line PQ. OS is another ray lying between

rays OP and OR. Prove that ZROS = % (£QOS — £POS).

Locate /17 on a number line.

Locate /4.5 on a number line.
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23. Observe figure 7 and answer the following :

Figure 7

co-ordinate of B.

point identified by the co-ordinates (—2
abscissa of point D.

ordinate of point H.

points with same abscissa.

points with same ordinate.

1 2 1
24. P that + +
rove tha B BB

=0.

25. Factorise : (i) (8b3—1)

(i) (p3q>+343)

26. Find the height of the trapezium in which parallel sides are 25 cm and 10 cm and
non-parallel sides are 14 cm and 13 cm.
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27. In figure 8, D and E are points on the base BC of a AABC such that BD=CE and AD=AE
Prove that AABE= AACD.

A

Figure 8

Lines AB and CD are parallel and P is any point between the two lines as shown in figure 9.
Show that ZDPB=x+y.

A B

«t =

Yy

D
Figure 9

SECTION - ‘D’

Question numbers 29 to 34 carry 4 marks each.

Verify x3+y3+z3—3xyz=l(x—l— +2) [(x—y)2+(y—2)%+(z—x)? d factori
5 y y y—2)*+(z—x)°] an actorise
64x3 + 12513 — 642° + 240xyz.

In figure 10, the bisectors of £ ABC and £ BCA of AABC intersect each other at the point O.

1
Prove that £ BOC=90°+ 5 ZA.

A

(@)
1 2

C
Figure 10
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In figure 11, AB and CD are respectively the smallest and the longest sides of a quadrilateral
ABCD, then show that /A > ZCand ZB > ZD.

D

C
Figure 11

Given a polynomial p(x)=x?—5x+4.

(A) Find the value of the polynomial p(x) at x=2.
(B) Check whether x is a factor of p(x).

(C) Factorise p(x).

In figure 12, if two isosceles triangles have a common base, prove that line segment joining
their vertices bisects the common base at right angles.

A

D
Figure 12

33. Factorise : 2x3+7x2—3x—18.

OR

Factorise : (x2—2x)2—2 (x2—2x)—3.
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34. In figure 13, ABC is an isosceles triangle with AB=AC, BD and CE are two medians of the
triangle, prove that BD=CE.

A

C
Figure 13
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a2+b2+c2—ab—bc—ca T T :
(A) (a+b+c)? (a—b—c)?

© (a-b+oy @) 5 [@-b? + b= +(c=ay]

afe AABC~APQR, @ 51 & | &1 W1 %97 I & 7
(A) AB=RP (B) CA=RP (C) AC=RQ (D) CB=QP

&
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3Tfa - 3 H, STER BC &1 BeA fag D € 921 DE 31K DF %99 AB 3R AC W 38 YR o oA §
f*% DE=DF. fag =Sl f& «B=~2C.
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27. 3Tfd - 8 H, TH 3l ABC % 3M¥R BC R fag D 3R E 30 YR € f% BD=CE 3R AD=AE

fag +ifslT : AABEZ AACD.
A
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31. TH 9gTE p(x)=x>—5x+4 %1
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TTUHAETE HIST : 223 + 732 —3x —18.
AT

TUHETE HINT : (x2—2x)2—2 (x2—2x) —3.

THTd - 13 H, ABC Us HAfgaTg 9« 38 YR ¢ fF AB=AC, BD 3R CE AABC %! <1 mifeaapd
%1 fag =wifsg f BD=CE.
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